ERNZAROZEEERT — 2 ~N—XIBISH —F 2017512838 (H) 12@&%12H

Gl weaEmEEAEs c20c30 5R—H B IR
[AE4£] 1% :140,000 ™ ~ 23#%:35,000M” ~ 33%&:18,000 M . 43&:10,000 M 53 :7,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SN o — ZIE :25. -1-1- . — MEEX (SH)
11111 |7#3I3=7)I s | Bl 1(2_5)8 1-1-1-1 | 40.5 3 :1_814) iz
RO—Y XA x4 BILFF—1L HH EE
S5 H 44 | BERI 1:25.9 2-2-2-2 | 40.4| — 2 | 473 |FUFEE ()
2|5l | ZITT>TRE— 55.0 (1/2) 1) | NHER
L:xF1=FGr—X B:TI4T7XEY b BRRUS
= 4t g | AEHHER 1:26.0 5-3-3-3 | 40.3| — 1 457 | BREZ (SH)
3 | 7T H = 56.0 1/2) 1) | (B J P NEH
R:8=Z/FXLLy b B:SAT)—FT14F (B) A3 -FRL—->a>aEI7
- . o4 | AAND 1:26.5 8-9-10-5 |40.0| — 6 479 | Bfh— (SH)
4|8|12|¥=—UANT} 5.0 21/2) @ |
:707% BY=—-I5vvY HARFTT 7 — L4
- - pa— 26, 1094 |402| — HARE) (50)
5 3| TN=T7ILFx — - 1(12/62>6 1071094 40.2 ) ff; B J PN
R:Fa58N BiAFLwTaU— KBS
N HAAKI 7. -7-8- 7| - HEEN (B
slalyl 7xvs B4 A 1(227)0 4-7-8-10 | 40.7 7 (4:158) %E}:;i
R:¥v 75 bo—L B:ATOLF—FK plltie)
. . N EREH :27. -11-11- . - HARE (SH)
7155 /\7“9'_|\,-7,r/|\ 7 o 5 1(72{:; 12-11-11-11] 39.2 9 ‘23)6 5/;'2"%;
RG24 E—-7 BE-A4LFK [EA=bie]
R . Lk GIN : —4-3- — AKRER) (FH)
8l7l10| ¥7—7VUZ o9 el 1.(217).3 3-4-3-7 | 41.5 8 {Zﬁ éﬂﬁ
RiA—JIhT7r BixAT0-U— =E B
o= L =HEAX :27. —6-7- . — MARRE) (FH)
oY s | ~sETL G A 1(12/72>4 [ " f;)) @miFA
R:v2RUIYRAIRX BNLFow YT BRT7—LI
© G :27. ~5-3~ . — AT (FH)
ol 4| KvxFIIT— # 10 i 1(12/72)5 6-5-3-6 | 41.7 5 (4_723) ﬁﬁ—g}
AR v g4 —7 B:YV13I-KRLZR HET77—L
> = o BAER : -8-6- - HARE (SH)
1117|9|#Z7v bXLX 9 520 (12218/20) $EEE 419 2 :io) R
SANRTNGR BT RIIN pakyec)
s 4 | WWEES 1:29.9 11-12-12-12| 41.9 | — 10 | 455 |E=fE— (FH)
27| 7177% 54.0 @) o) | PEZH
AT RS BIRFHINZYNE J =¥ Ty — I
® I —F—EBIERL
13=7r= 1,6,10,11,2,4,8,12,9,3,7,5
Aol=5r= 1,6,2,10,4,8,11,9,12,3,5,7
G§a=7r= 1,6,(2,4,10),9,8,11,3,12,5,7
43—+ — 1,6,2,3,12,4,10,9,8,11,5,7
[ RN
B OB 1 530M 714K 1-6 230M e & 1-5 650M &R 1-2-6 550M
8 B 1 120/ 1-2 250M B = 1-6 630/ JEH 1-6-2 4,790
6 1104 2-6 150 B H 1-6 1,580M
2 110

ABICOVWTRDTEEERROODE. TR LIV,



